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f(x)=sinhx (3 f(x)=xe"* (2 f(x)=sin2x (1
f(x)=2 (6 f(x)=cos’x (5 f(x)=sin’x (4

f(x)=arcsinx (9 f(X)=In(2-3x+x*) (8  f(x)=xcos(4x?) (7
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f(x)= 1+9X (12 (=13 f(9=r"— (0
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f(x)_9+X (15 f(x)= f9=—r (3
1 7x-1 3

f = = - - - -
o (L+ x)? (18 ) 3x*+2x-1 (a7 1) X2 +X—2 (16
f(x)= |n1+—)’: (21 f(x)=In@-x) (20  f(x)=In(l+x) (19
f(x)—arctan(ij (24 f=—5 @3 fx)=InG_x (2
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f (x )_ﬂ (27 f(x)=tanx (26 f(x)=e cosx (25
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~\ 2" )n+1 ~ (2n)!
i} £1-3.-(2n-1) x*"
|x|<1 -D"x" (10 X+nZ:1: 2:-4...-2n  2n+1 (9
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cosx=> (1) X X X X, —0 < X <0
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n+1 X2 X3 X4
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